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Addition Rule @
Kequord ~ OR P(A or )= P(R) +P()-H(Aanlt)
Stgle Ackion  event

o P(A) =4, PB=T, P(Rand B)=+25

) P(A)-1-P(R) AP(B)-1-.1

NP A and B)z1-P(Aand B)=4 —.25 -5

B PR or B)=P(A) 1 P(B) — P(Aand B)

Addition =t ] =S :
Rule

5) P A or B)i P(AorB) -1- .35 =(.15]

6) Make Venn Diogel.
.Lt/ W25 = 0\5 5

.1 -.25=445
1o Total =1
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P(B)=.6 )PCHB )=1-. 6 [H)
P(FF)=.3
P(#8 and FP)=.25

2 P(FF)-1-.3-17)

3) P(#B or FF): PCHD) +F(FF) — P(4D and FF)
[J;A('M —-6&3—25“
Rule

4) Moke Vean Dingawl. .@
b e25= .39
> -25=.05

5) P(IB oniy)=-35
Toted = 1

6) P(EF ov\\‘b = .09
) P(order one, it Bofk} _ 354 .05 =14]
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No overlp
A& B cnndt

houp pen fogether

D QB P(Romd8)- O

Mutvally Exclosive E\Ien\‘s}
Disjoint Events

P(A)= .45 P(®) =5 A ER are MIEE
B)-1-d5  S)p(E)-1-75 2P(Red)
DI 155) ol

) P(Rond B):1- P(Rand B)=1 -0 =\1}

5) P( Aer B) - P(A) +PE® —F( Rand B)
) ) o5 iy .75 ——O :@

6) (G nstruct Venn D(ajvuwz
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PR and BY-P( Aocd )

P(A or _E’>> = A and B)

Complete the Veun Diagwum below

) P(R) = .45
AZ‘} 2YP(A only) =05
pS
/ 3)P(B)=.60

) P(B only) =25 5)P(Aor B)= 454465 - .4 =[]

O P(A and BY-P( Rord )=1 —1=(3]
De Morgan's Law

D) (A o B)=P( Haadn):1— - 6]
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P( (Phone) = .85 Olonstruct Venn Diaguan
P(MmAC) = 35

L\J\\o“e- \iTW

P(thoqe and NU\C):.ZS e

.05

P( (phone and W‘—, P( iphone OR.MGC)Tofo.‘Zi
De Morgas Loy -4_ 45 =[.05]
P( tphme  OR WT#E) -p( m) -1-.25
=\15}
Loh Y OR (MAC only, mot both
P( (phone only %f‘m Y

2 +@- J
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Conscder o Solt ded< o5 play M3 Cavels
52 Caro\% Ho ACS

O P( Draw o Ace)

542 :

&) odds th Sovr 0§ Amw:nj an Ace.
wAeS 9 & AES

g 43 =p [L3ie)
4[9 48 [MATH] LM | Enfed) J@/

3) OAAS ‘Qéuiﬂsf lo\mwmj an |Ace
tawor on A 13512 \2%1
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1§ odds  in Swor of evedt £ are QO %\),
.0 ). B
thew P(Q* atb , B E) atb

EX. Oc\cis tn Sauor o§ event £ owe 347,
) Stad odds ogainst evenf £,

[17% 3\

2) Sind P(E)- 2 — : 3)Find F(E)
1 o _\,;‘710

YN
=134

Apr 4-9:34 AM

1§ PO is Yiven, then
adds  tn Sowor of event £ ave
PCE) 3 P(E)
Always S tmpli Y.
Sopprse  P(E) = +002
OP(E) 1 - P =[-3]
o) odds in Souor o event L.

P(E) 3 P(E)
002 3 .998  —p (18499

c002 [2) .98 (MATH) 12> Svc) Ented 1
3) 0dds Ggainst eyent E.
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Suf‘a03e P( Dool"]Q{‘S Win U\).S.):.%E
P(W)=35

1) P(m) -1 - .35 ={.\b]

&\ OAAS (n @ 6; >00‘7€V5 wmmﬂj the

world  Sevies. P(w) ¢ P(W)
5 2 .05
—»
3) ~dds a9 ansts T
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Keyword ~ AND P(& and B)

MUH-I‘P‘Q AC\“'O“ Q_\’eﬂ‘\‘ q thPQY\S ﬁ\QYL
B happers
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1§ A ond B are \‘nc)e‘)evrjeﬂlf G\Jed‘s/ thew
P( A ond B) = P(R)-P(R)

Gieen  P(N=.3 , PB®):=S]
A and B are in \epeno'eﬁ+ events,

OP(®)-ET) 2p(8):2)
D) PCA and B) = PE) -P(B®)- (3)() =21]

4) Nenn Diaﬁm\m M

4

Totl =L

-
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A woltiple ~Chovce Uiz has 4 ﬂ\\)es’\“ions.
Eodh o‘\ues‘n‘av\ has 5 chotes with only
one Correct Cholce
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P(M=2 , P(B)=ch A< B are

l\ﬂAeeQV\oQWﬁ' e\mdc,
NP(RY=1-.2-(F)
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